T

X i3

BE

- R
BeEEX | T Py .
7 = 1l
X K | mom K "
J\EM 2 T A > PRI | BT Bomo Xk -
) . H A A BT — ’ HIRIX | BT B om= I
i % N EmWiEhT 1T H 29~39 fH
= 5 Al Ezl:h%@lﬂ]‘ % 14 /J\'%
% $RE1 T H S A AAG W #ET 2 T H 7 il
Lo 7 |[mA2TH S I PRITLTHR 1 ol A AJE =
Z OR (- GNEHT 2 T H 156~20% A
¥ leymsTr ks HAET 2 T H 1~ 5% 15 %% AB1TH
32~36
s ARBANTTH 1~ 5% 0 i HE2TH
: R w| g |TEEETR S eE e
i . mAET4 T H 1~ 8% o - g E3TH
i _ ;i 18~303% 9
; AABAIT L TH  6~10% X A | E4TH
SRR 5 T N
E% ‘ g HARGAHRT 2 T H 6~ 87 13~58% A Bsx1TH
y at $RIE 6 T H TS T ARG IR T A I
o f o~ 117 : i =1
S T Jiss mAHT 4 T H 9~15% : - X3 TH
2 E! 9 L I— H A4 A
= 7 IEI/ N S 7 g 4TH —~ SIZ-
/LJ_'I\ e JUSRN Q> 1
3 /J\T\% - Hh - ——— H AHE & JNHT (5% 47
’_%:% Y i 7 1:WEEEIH3T T 8N13)E§
pe | PRHEE B A AR LT ~
H AAG /M ST o L& 5TH
W (A3 TH U ANS it
- EESIPN Ly o 18 | /b [BEx6TH
A |E3TH . e N A A AR T ; -
7 I A R My . KB g BT
B o|m om oy ff A AAGIZET 1 T H =
VR HAMBATEET 1 TH - . 9 s |TEHEL T
EP " . H AHE 2 Hﬁ*ﬁ{ﬁ\:m2TE 6’\’17% B =
s (A2 TH | MAPRT2 TR g T2 T F
5 /J\ 31’\"42% s MR TS
% k1 TH e A N ARG
B 10 I 37 o fi LS 4TH 6%
%2 TH i AEW 1 TH 20 | #
2 s H A ANJERT 3 T H % S ;E iEE3 T H
e 3 =
N R A T I B |wmaTH
TED% HAMEW 0T 1 TH 1~28% ;; R LPE
o | oE | A 5 30T 21 | sy |WME5 TH
2 # JI] /s




